
�����������	��

��
��
��������	����
����������	��
������	���������������

�����
����	��� ���	����������!	"#��$�%�&
����
���������&	��'��������&	�����
��������%�&

�����������"

�������������	�
�	� (������	��%���&	�����������


������������	�������
����������	�	
#���)*�+
,*-���.	#���,���

���
���
��

����������
�����������
���� !"��#



��$%�� !"

�&����'&�("�))



!#�*	�������	�	%������+�	�,���������
�
�	�������	�	

/0	�����	1��%��%�	�	����%����	��������������&	1�����$$�

��	�������
����������	�����
��	�������
����������	������-��	����.������.#�����+�������
�$���
��������������������
�	������������	�/��
0	��$������1�

2������
�	
��23024025�.	����	�
�������
�����$�3�����	�

*	�������	�	�1������
�������!
4	�������	�	�1��%��%�	1�	1��������	1��6�����������7	�$���&	�	�1���	1��6�����������&

�!���������
5����+�����
�
�	�������	�	����'�������!8	����
��!
6�����/,����1�����
�
�	�������	�	�
��%�����!

9���	1��%��%�	:
����
��
�	
��
��
�	7
��	-�����	��	����87
�	
������	7
��	-�����������+������8�
����	���	�	�87
�		
���,
��	����$��-��	�0	��	�#

)�
���	1��%��%�	:
!#�����
�	�$��
��
�	7
��	
�����	��	���	�+�
��	������	7
��	
������	���������	��0		�������	7
�����
	���
�����	�������+��������
���	�
9
�#���87	�$��
�������+����������	7
�����	�,����0		���	�����
�
�		����
��-�	�	���+��������-
��+��9
:#���+���$�7���$����
�	���������
�
�	���
�����	������������
�	�����8����������	,	��0	�����
��+���#



23024025�.	����	��/�������
�����$���3�����	�1

40	#�������	1�������$�7	�����������	�������!
�����*��
�8�$���
����-���
�	�������	�	�#������
�������!	1��%��%��8��+87�;<
������������+��$
�,���	���������
�8;<	
�����
�
�0		�

					��04������+����$���+����$����������
�$���	�������
��	�
%�8�
�$���-��	�$�	���	�	���$
�����	��0	�����8�����
�7
��	
��
=
�	�%��0
�	���$�	-�>,,
��	�����$
					��0;���	�	7
��	�����	�	�����$�	��0
�	���$���������,
��	����$����	���0	��$��������%���	
�
�+-��	����	����������$�	��
�	�$����,	�$����
�����,
��	����$�����
��
�$����	%��
������	�����$
���������$�����������	�	;�	��������
�=
��������	;%�����=
�	;����,
��	����$�����8������	
����
�����
					�#�0/�����
�$�����
�
����	��
�����	�
��
���
�����87��-�	���
�����	�%�����	��������-%
���
��	�����	�
					#�052�����
�$��
�����	�	�87
�	���	��-��	��
�������
��-�	���+��������-�8����	�-%�	�
�$������	
��+����������
�
������������8���%����
����
+����	���
-�	�	�+
���������	
					#�0/2����������$�87��������$��������	��0		����
��-�	���+��������-���+��%��������
�		���
�����	
��7
��������8�
���0		



��1�������!	1�
�����%�
6��$�	�������!
<<	���$������8
��
������7	
�!

1��7��
���!	1��%��%�
��=�$	1��%��%�	>�0�0?

��=�$	1��%��%�	>�%0���0?
���$�	����������

 �# :# !�.	����	��/�������
�����$��3�����	�1
�7���
"%! 

!�
):�

?����
��/! ���	�
���1

#��$����&	���6�%	1��7��
���!	1��%��%�

;0	
�
�������	�	��=�$		1��%��%�8	6��$�	����������

#

&��	7
����
7���� 5��
����	
���+�� '
��������
�
�	�

��
�������	�
�$����>���

��@��������>���

��3���;7	�
�$����>���

��3�<	�����7
�����������	�


!)

:"�

!(

)

@�������
�	
���0
�$;�	�����7��	������	�	#�
���
�
�	

	����8����������
-�	�
�+
���������	#�5��
����	

���	�������
����������	�	#�3��������������������	
,�����	���+���%������
�
�
�	
����+�7
�����
�
�	9��
����	���	��
�
�	�����8�
���0		#�
��87
�	

	��	�	�8��$��-������	������8�����	�
��������	�	#
5������
�	
������������	�	#

@�������
�	
�������	���	���8��
��
�������������
�����	��0		�+���������	�	�	�����	���	��-�������8��#
*�����
�	
�	��	�	�8��$��-������	����������
8��
���
����8��8�����	�
�
������8������	�	#
5+���	��+��+��������
�	�����������8�����
����	,	��0	��������+���%�	-��
��	7��������	�#�A�+�����
	���7�	���	��	�
���8��#
3�����
�	
���
��	��������	�	#
&���8�$�	�����	
����8�����	�
�
�������	�	���-��
�


���-���
�	�%��+�8��
�	�����87
���-��
�8�$�����%���	
�
�+-��	����	�������
��	��������������+��#

@,����
�	
���7
���������	�������
����������	�
#
5	��
���	��0	�����87
���-������
������-���
�	�������	�	
�����-#


�����	������<	�����7
�����������	�
���������

&�,
����������		
�������7��-�	�>�����		
+	����	7
������,��8�$�
��

B2C�

*����	�	����	���
	��	�	�8��$����������
�����	�	����
�
������	�$����������+��

�������	-������	��0	�%
	�
;<	-�����������$
�+
��
7	���$�����
�
�	

�����	�	%�����	����+��

��,
���
B2C�

&�,
����������		
�������7��-�	�>�����		
+	����	7
������,��8�$�
��

B2C�

&�,
����������		



&��	7
����
7���� 5��
����	
���+�� '
��������
�
�	�

8�������
��������0
�8�
# �������7��-�	�>�����		
+	����	7
������,��8�$�
��

B2C�



@0	#�������	������&	����������8	����7�
�$�&	
�!	1����
���!	1��%��%�

!#�3�����	���������7��-���
��	��	������	�����87
+����
���	7
���
�����+	
�D�2#�*#�
����	��%�*#��#
&����	�%�@#�5#�3��������%�@#�5#�B��$����#�E�F���
�	�+8���������$��	��,
�
���$����8�	�
��	�
�%�?.5
�5*%�� !�#�E�! )�G#�E�HIJK�"L(���L""��!�L��)#�E�4
������>�
���������DD�?�
��������+	+�	��
7���
�	��
���HMN�JOOPI���Q����R#�STTU�DDVVV#WUXYZZ[\SZU#X]D�(�) #ST^_

�#��7
+����	����	�������
����������	��������
����,�����87
+��
�����+	
�����+�������	����	
���	�����8���D�`#��#�A8�	������Q	���#R�9������
���0	
��`#��#�A8�	�����#�E���
�	��#%�	���#�	����#�E
'��������C����
�$�����a����%�� !"#�E�!����#�E�/@+�������
�$�������0
��1#�E�HIJK�"L(����:)�!!)(��
 #�E�4
������>�
���������DD�?.5�a�����Q����R#�STTU\�DDVVV#]XbWT#X]DYGZcdD))�:(L

	

	

!#�.	�������+���	
�	�>�����	���������7��-#���,	+		�	��
��	�		�

��������������
���#�����+	
����
87
+#������	�	D6
�
�#���
�����������+�������	;%�

��#����#�8���#�

��$�
B�%�  L#�)"#�.	+�	���#���#
)L�)(�

�#�.	�������+���	
�	�>�����	���������7��-#�
�	0��

��������������
���#�����+	
�����87
+#
�����	�	D6
�
�#���
�����������+�������	;%�

��#����#�8���#�

��$�
B�%�  L#��)#�.	+�	���#���#����

:#�.	�������+���	
�	�>�����	���������7��-#�'�
���	��;<	
�87
+#��
���#�����+	
������8���
e
������7��
������e%�87
+#������	�	�	�+��$=���������	�8������e.	�������+���	;
�������7��-eD6
�
�#���
�����������+�������	;%�

��#����#�8���#�

��$�

��#����#�8���%�  L#��(#�

�

�

�

�������!

+�1����������!



30	#�������	��������	����		A��������B8	������$�7	
�!	1����
���!	1��%��%�

C0	#�������	��6��$�'�����7	��7������&8	��1������$�7	1��	1����
����	1��%��%�

����8�����
�	�
�Zf�_Wfd���?�
������8;�+	+�	��
7�8;��	��
�8�/?.51�
����8����>�
������8;�	�,����0	������+�������
�$������
�8�8�	�
��	�
��#
C��
��
���
��	���	�>�
�������
��
�8����/��	�����
��	��
��%�>�
�����������7��1



�
7
�$��
�+-��	��-��	0
��	����-�	�/	�	1����+�����������������
��-������������
0	��$����
�����7
�	���

�����������������	��	7
������+��+���	������-���MgIh�:#�:

��
���������������������
�	��	��	�8��	��0		�,	���
�
�	7
��	-��
�
�$
����MijkHM

���������������	+������
����,����
���lN�:"  �/ibGS��kbfmd1�
�������������	�������8�O_n^U]\�Jo��:���Gd__Idf\d�\TbfcbXT�pdX#!#!

����������������,��
��		���IGZUdMSZTZ

�������������	�8;<
����	�����������4'�:   #

����@+�������
�$�������0
�����������	�
�#������
�������!	1��%��%����
�������
��	����$�����	

��
�8;<
�����������������+
��
7
�	��	�	�,����0	����-�������7��-��	��
��

����
�	�����
�		����
�	����	�������
�	�������	������	�0	��	�
��
���
��8
����	����$�����	

���
�	����%�����
<
���-���`	7��-���+	�
��-��+87�;<	-���F4C5�
B2C��/DEFGHIE0JDF0KF1#

q������������
�$������+�����
�+-��	���e`�+������	��������		�+
��������7��-e%�e`�+������	�
>�
����������	�������		e%�e`�+������	��������		��������7��-e%�e`�+������	��	-�	����		�	
��+��������e%�e`�+������	��>�+�	����		�	��	������		e%�������
����
<
�	��2�87����+	+�	��
�	

B2C�#�5�������+��8�����	��	�87
+�����������-�����+	�%����������-�	�����������-���
����
��
������
������������-���+������	�#�
��
<
�	��2�87����+	+�	��
�	�
B2C���+
��
7	��;������8���
�����$����	����+��$�����
���#


�	����-���
�		������	�	���
+8
����	����$�����	
���
�8;<	-��
�8������
�	��C��
��
����
���	LEEJ:MMNHKEHOKPEP0OQR0SDF0KFM�&�,
����������		��������7��-�.	����	7
������,��8�$�
��
'�����������B��8������
��������	�
��	�
���	�#�'#*#`���������
���	LEEJ:MMTTT0UQI0KFMJKRVHWEDMURRQIEXKM�rOOHKh����
���+����������	�,����0	���������
��
3�����	7
������	���	�8���A�2

Y0	�1������	$����������Z��7�����%�&	����8	����7�
�$�&	
�!	1����
���!	1��%��%�

����
�	������	��0		��	����0	��������+����	�����
�
�		������	�����
�	�
�����������8�
	����$�����$���
�����	��
����	�
����,
�
�0����	���������
�����,�����JWmJ_]dJ]TTZf�/STTU\�DDYWmY_]dY]TTZf#ZXmD1#�
�����	��
���ksI�sZZc_d�/STTU�DDd�_dbXf#U\]#X]D1%�������������
��	��
������������$�	����$�����	�
�
������-����
�	�����	���
�
���0	�%��8�	���	��	�
�����
��%��������
��
���%�����
��
��
������	�%
�����	����������
��������+���#�
�����	��
����
��	�����	��HfcWmZ�/STTU\�DDWfcWmZTdGS#X]D1#



[0	����
����%��	�%�����!	
�!	������\�7�!	1�	��������	
��'�1����

q��������	��0		������	�	���8�
��8���
����	�
�$����
�+-��	���
!1�	�
�$�����8������
�	0	���	���������	���/�
����8;<	
���	�	��	�����	����
<
�����>�0
,��	���	
�	,�
�		9����	0��
�$��
��
�8�$�����,�;������,	7
�������+��
�����	�1#�5�8�
���%��
�	�
;<	

���8���������	�������
����������	�
�����
�	0	���	���������	��%����-�����

���������
	��	�	�8��$���8�����8������,
���-�+	����	7
������,��8�$�
���
B2C�9
�1������8=��$�	����8���������
-�	�
�+
���������	�	�+
�����������	
������+����/������	�
�8�����	�
�$������	�	�����������		�
���	����8��
��
�������������������+87�;<	-�����
B2C��/��#
L%��#�+1%�	����8�0		�����-���
���8�����	�����
�
�		����	�������
�����/��87���	���
�����
�$����1
�����	�	�������8�
�����	����	���������C@4��(�!:�/
B2C�%�� !:119
:1�������	�$����;�����	�$�����
0	��$������,
����$�����8����
�����	����8����
�9
)1�������	�$�	��	�	�8��$������������	�������
����������	�	���
��
�����87�����8�����	�
�
�%��
��������8������;����������	
������	��0		�/��
���	��	�1%�0
�$�	�����7	������	�	%����	7
�����	
,�������+���%�������
���
����	����������$������	����8�/�����
����	�
�$���8�����������	;1%
���
�	���%�����
��<	-��+��8�	��+��+���
%�������
������
���
�����	���+���#
@������	
�������������
�	����8�
������������	�8�����
�������������������	�������
��8;������	�8%
����;7
������
��8������	��0	
��/87�
��
�	
�%���
���	��	
�1�	�
B2C�#

@+��������	���8�
���������	������
!1������8=��$�	����8���������
-�	�
�+
���������	������+�7
���
��
9
�1����������+�;���$�����	�����8��
��
�������������������	��0		����
���������	�	%���
+����	�
��8�������	�0	��	��9
:1����
��
�
������������$���
�8�����	����87������8�����	�
���	��8�����	�
��������	�	���
�����	��0		%��+
��
7	������7
���
���
�������
�	
���
-�������	�������-���+��9
)1������
������	��;<	������������+��<��$����������<$;������	���8�����	�
���9
�1�87��������$������	�������
������
��
�$����	���
���	��	�%�
��	�>�������
=
���	�������	������
������������	�	9��
���$����
���	���������
�=
��������	���
��
�$����	������	��0		�/��
���	��	�19
�1����
�	�$������87��$�	�����
����$����,
��	����$��
������	���-��
������
�������+���9

����
��
<
�	����87����+	+�	��
�	�
B2C�������+
��
7
�	�����������
�$������+�����+87�;<	-���
����!#�2�87���+	+�	����,	7
��	�����
�%������#!%��8�#�!)�#�@+��8������:��
������$���	�����$;�
����
����8������������$����	����+��$��������$;�
������
���#�
�����#�t	���$���������8���	��������	�
���8��%������#��%��8�#�)!(#�@+��8������L��
������$���	
����$;�
���	�������8������������$����	����+��$��������$;�
������
���#
����:#�t	���$��������
��
���
������	�
���8��%������#�%��8�#�! L�#�@+��8���������
������$���	
����$;�
���	�������8������������$����	����+��$��������$;�
������
���#
����)#�@��
��	������������	�
���8��%�����#���8�#�� L#�@+��8������!��
������$��������$;�
�����
����8������������$����	����+��$��������$;�
������
���#
�����#�.	+�	��
���;�	�	7
������,��8�$�
��%�����#"%��8�#�)#�@+��8�������!!��
������$���	
����$;�
���	�������8������������$����	����+��$��������$;�
������
���#
�����#�t	���$���������
����,	7
������,��8�$�
��%�����#(%��8�#�)!"#�@+��8���������
������$���	
����$;�
���	�������8������������$����	����+��$��������$;�
������
���#
����*�
�����$;�
��%�8�������
���
������
<
�	�-���87����+	+�	��
�	%�����<
�����
�8;<	�
�������������+
��
7
�	
��
����@�
��0	�������	��
���gkh�kWf]u9
����@,	��������
��kWYXdZvvWGd#
����5�����7�������������	��
����&���8�$����
�;��



L1��
�8��������������$���
��	�����	�������
����������	�	9
(1����	����	�$��
�+-��	��
���+����/	���
�����	�1%���+	������	�>�������
�	�������+8�8<
�
���8����������	,	��0	��������+���9
"1����$�����$���+	+�	��
����	���+������	��	������	��0		�/
��	�>�������
=
����8�����	�
�
�1%
�	��
���	7
��	�	�87��$�����
�	���7�	�	�+	����	7
�����	�,����0		������+��������
���	�
%�������

���
�	���%��
�+-��	��
��������
��������	�������
������
��
�$����	9
! 1�����
�����������	�$����
�	���������	�	�������<	�����7
��#
5��
����	
���7
�����������	�
��������+��$��+����
�$�������
�
�����87�����8�����	�
�
��	�	�
���	�	������#

����	��������+87�;<	-����������	7
����	�������������	�������$��	�	����	����������	�����
87
�������+
�����
��	-���	-�,	�	7
����������	�	�%�	��	�	�8��$��-�����������
��	��������	�
������$�#

�	����
�
�
�		��
���������	�	�����	����	����	��	0���@*3�87	����;�����
���
���0		��
�	���
��0	��$����>���
��	��%������
���
���	��	�	�8��$������������
��
�+	�	��0		�	����	��%
�����	�
�$����
���
��������-�8����	��	��	������8��#

��������8��+87�;<	-�����@*3�	�	����	�����$;��������-���
�	�������	�	������;������
0	��$��

��+�7	
��
�����������
����		���-�����
�������8=
�	��������$�%�������
���87
�������,
��		%�-�����
��
��8��%��������
��-�	����	������8����-�,8��0	�#

@+<	
���
+����	�����,����
�	;���7
����=�	,����hW^d\�KdV�NZ^bf#�&
��$���!)#�C��
������
���8������#��+��0���!%�����#�
����
���������	0�������8����
�����:%����������!%�%���
�-8�	���	�8�������
��#�28�
��0	�������	0������0
���8%�����=���#�28�
��0	�������	0�����	���
�	�-���������
�
�8�
��0	;����������7���	���7
��#�
A
���
��8
�������8��8�����7
����
!#�4	�8�$�����	���
�#�*�
�
�	
�
:#�5��
����
�$����7���$�
)#�3���;7
�	
�
�#�.	+�	����,	7
��	����	����
�#���	���
�	��/��	��
�+-��	����	1wx���L"9�
4	�8�$�����	�����7
�������
�����
�����7��$����	���7�	����	�,����0		�������
���������+��
%���
��
����	�$��
��,����
�	
���8�	��������������-���
�	��	�����
�8;<
���
���	����$�����	������87���
	���
�����
�$�����	������	7
������
��
�$����	#�
*����
����
�$����7���	���7
�����8�
������
�������;���������
����
�������-���
�	��	�	������	�	#
5��
����	
���+����������������
��������$���������������
�	���	��	�	�8��$����������
/���������1������	�	%��������
��������8�
����	�����
�����������	�	���87���	��8�����	�
���	���
��7���������	�	#�
5�
�8����������������
�	���	��	�	�8��$����������/���������1%���8�
������
�����;������<	�

��
�8;<	
������
�	����7
����
�1����8��$����$��
�����+��������	���
�����	�9�
+1�0
�$������	�	9�
�1�����7	������	�	#�y
�$�	�����7	������	�	��������+��$�����
������,���8�	������%������
��������$
��8����8�89�
�1��
����	�����	����-���
�	�������	�	9�
�1�>��������-���
�	�������	�	�	�

��
����	��	�#�
4���������
��
����	��	��	��
����	����8�
���������
��������	�	�8���������
�����
��	�
%������	
�������
�		���7
�����%�	����$�8��>�	������
%������+�����	����
��-���������
�	��	�������	�
�����	�	%����87
�	�������87������8�����	�
��%�-�����
���������
��-�	����+��%�������������
�
�	�



��+���
������	���
�����	��	��#�#
*�����;7	�
�$��������
�
����
����
�$����7���	���7
�����8�
����+�+<�
����
������
�������=

���
�	��%�,���8�	�8
���������
�����������������8�	��
�8�$���	�����	��
����	��	�������	�	%��
��
�
����;7
�	
�������	�
�		�/	�	��
����	�
�		���8�����	
����	7	�1�0
�	�	��
=
�	������7������	�	%��
����
��
��
����
������
�	
�������������	����$�
�=
���	����$�����	�����87
���-��
�8�$������	
��+�����-����
�	�������	�������
�		����	-���87���	���
�����
�$��	-�	�����	,	��0	����-���+��#�
@+����
�$����>�
�
�������7
�������
�������$�����	�������
�	����������	�	#�&�
�����		����
�	����
�����	�	%�
��	���8�
��%������
��������	-������
����
�$����7���	���7
��%����
<�;��������7
���
��7
���
���	���
�	�#�*
�$��+z
����+�����-����
�	�������8�
�����
��������
����87���8
�8�����	�
�;������
�����<	�����7
�����������	�
#�5��
����	
���7
�����������	�
��������+��$
�+����
�$�������
�
�����87�����8�����	�
�
��/	��8�����	�
�
�������	�	���������	��0		1�	�	�	
���	�	������#



��$1����'�! #�������$��	����������
�������!

��������	�'�������!	�����������
�������!

����$���	�0	��������	��0		
����
��	�������+���

8�
�$����������
�$��
��	�	���$������	��0	�����
8�����
�7
��	
��
=
�	�

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�������

�
����
����	�0	��������	��0		
����
��	�������+���

���+<	-�7
���-�	�

����
������
�	
��
��	�0	��-������	��0		�����
��	����
��+���

���
���������
���	�0	��������	��0		
����
��	�������+���%���������
������+
�
���8�
��	����������+���$����-��%
�+
��
7	��;<	������	���$�8;
>,,
��	�����$��
��
�$����	�����
��	��

���
����	�0	��������	��0		�����
��	����
��+���%������+
�����8�
��	����������+���$
���-��%��+
��
7	��;<	������	���$�8;
>,,
��	�����$��
��
�$����	�����
��	��

�
�8�

�����������
�$�����	�	���$
�����	��0	�����8�����
�7
��	
��
=
�	�

8�

����	�	���$������	��0	�����
8�����
�7
��	
��
=
�	�%���������

�����+
����	-������0
����8�����	�8%
��
�����
��
=
�	����7���8;���	�������
�
�
������
�8�$�����

8�

����	�	���$������	��0	�����
8�����
�7
��	
��
=
�	�%���+��$=	����

��87�
�������+
����	-������0
����8
����	�8

8�

����	�	���$������	��0	�����
8�����
�7
��	
��
=
�	�%������+
����	-
�����0
����8�����	�8�	�����
��	����

���$�
�=
����+��������
�8�$�����
����
�
����������	��

��04

��04

�����+����$���+����$
���������
�$���	��
����
��	�
%�8�
�$
��-��	�$�	���	�	���$
�����	��0	�����
8�����
�7
��	

�
=
�	�%��0
�	���$�	-
>,,
��	�����$

�����+����$���+����$
���������
�$���	��
����
��	�
%�8�
�$
��-��	�$�	���	�	���$
�����	��0	�����
8�����
�7
��	

�
=
�	�%��0
�	���$�	-
>,,
��	�����$

���
�	�'������7	���
���	
�!	1����
���!	1��$��������&	�������'��

#�������$��	����������	�������!	1�	
��'�1����	
�!	6��$�������!	%�$1����'��	�
%�������	�7	�'�������!



����
�$����������0
��	
>,,
��	�����	���+���
����
��87���	���
�����
�$����
�
��
�$����	

����$��������
��������
�	
>,,
��	�����	����
�
���,
��	����$����	���87���
�
��
�$����	%������+����$
	����$�����$�	-�������	
��	��
����������	�		

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�������

�
�����

�����������0
��	�>,,
��	�����	
��+���
�������87���	���
�����
�$����
�
��
�$����	

����

������������7
���
������0
��	
>,,
��	�����	���+���
�������87���
	���
�����
�$������
��
�$����	%�������
��
��������0
�����
������
���
���
��
�����������8�
���0	
�

����

������������7
���
������0
��	
>,,
��	�����	���+���
�������87���
	���
�����
�$������
��
�$����	%���
������
�0
���������
���
������
�������
���8�
���0	
�

����

������������7
���
�����	
���	7
���
������0
��	�>,,
��	�����	
��+���
�������87���	���
�����
�$����
�
��
�$����	%���
��������0
���
�����
���
������
�����������8�
���0	
�

�
����
���������
��������
�	
>,,
��	�����	����
�����,
��	����$����	
��87�����
��
�$����	

���
���������
��������
�	�>,,
��	�����	
���
�����,
��	����$����	���87���
�
��
�$����	%������+
�������	�$
��+���
���
��������
�	���>��������	%
��������
��
������	�8
���
���	���
�������
�=
��������	;

���
���������
��������
�	�>,,
��	�����	
���
�����,
��	����$����	���87���
�
��
�$����	%������+
�������	�$
��+���
���
��������
�	���>��������	%
�
������	�8
���
���	���
�������
�=
��������	;

���
���������
��������
�	�>,,
��	�����	
���
�����,
��	����$����	���87���
�
��
�$����	%������+
�������	�$
��+���
���
��������
�	���>��������	���
�������		�7
��������+
�������+����$�	

��04

��0;

�����+����$���+����$
���������
�$���	��
����
��	�
%�8�
�$
��-��	�$�	���	�	���$
�����	��0	�����
8�����
�7
��	

�
=
�	�%��0
�	���$�	-
>,,
��	�����$

��	�	7
��	
����	�	�����$�	
�0
�	���$�����
���,
��	����$����	
��0	��$��������%���	
�
�+-��	����	
���������$�	��
�	�$
���,	�$����
�
���,
��	����$���
�
��
�$����	%
�
������	�����$
���������$��
��������	�	;�	
�������
�=
��������	
;%�����=
�	;
���,
��	����$����
8������	�����
�����



8�
�$����
��
�
��������	�$
����
��	��������;
���,
��	����$�8;
�
��
�$����$

����
�$�����������������	��
���,
��	����$���
�
��
�$����$

�������

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�������

�
��	�����$���������8����
��
���,
��	����$������������
�=
��������	�

�
�8�

�����
��
�
��������	�$�����
��	����
���;����,
��	����$�8;��
��
�$����$

8�

������	�$�����
��	��������;
���,
��	����$�8;��
��
�$����$%�������
����	��
�	��
�
�	����7���8;
�
��0	����$��

8�

������	�$�����
��	��������;
���,
��	����$�8;��
��
�$����$%�����	��

	��
�
�	�������+���8;������=
�	;
���,
��	����$�����8�����%�������
����
�0	���
���
����������	���
���
��
�
���

8�

�����
��
�
��������	�$�����
��	����
���;����,
��	����$�8;��
��
�$����$%
����	��
�	��
�
�	�������+���8;�
����=
�	;����,
��	����$�����8������	
����
�����

�
�����

������������������	��
���,
��	����$�����
��
�$����$

�����+
����,����
�������8���������	�8
���,
��	����$�����
��
�$����	%��
�8�$����
��������	��������	7
��	��
�	����$�8;���
����	��
�
�	����+���
������
��
�$����	

����

������������	�	7
��������������	��
���,
��	����$�����
��
�$����	%��
�8�$����
��������	��������
����	����$�����$����
	��
�
�	����+���
������
��
�$����	%
��������
��
����>����
���
����8��
=��

����

������������	�	7
��������������	��
���,
��	����$�����
��
�$����	%���������	�
������	�������������%��
�8�$����
	����$�8;�����������
��
�
�����	
��
������������
�0		��
��
�$����	

��0;

��0;

��	�	7
��	
����	�	�����$�	
�0
�	���$�����
���,
��	����$����	
��0	��$��������%���	
�
�+-��	����	
���������$�	��
�	�$
���,	�$����
�
���,
��	����$���
�
��
�$����	%
�
������	�����$
���������$��
��������	�	;�	
�������
�=
��������	
;%�����=
�	;
���,
��	����$����
8������	�����
�����

��	�	7
��	
����	�	�����$�	
�0
�	���$�����
���,
��	����$����	
��0	��$��������%���	
�
�+-��	����	
���������$�	��
�	�$
���,	�$����
�
���,
��	����$���
�
��
�$����	%
�
������	�����$
���������$��
��������	�	;�	
�������
�=
��������	
;%�����=
�	;
���,
��	����$����
8������	�����
�����



����$�����
�
���
��
����

��
���
�����87��-
	���
�����	�

8�
�$�������	�$�����	�
��+���
���-������-��
	����$�����	
������
�
���-
�
�����

����
�$��������
���
��	�����	���
	����$�����	
������
�
���-
�
�����

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�
����
������
�
���-��
�����

��
���
�����87��-�	���
�����	�

���
���
������
�����
�
���
��
����

��
���
�����87��-�	���
�����	��	��7	���
��������
���-��������-�	�87
���-
�	�0	��	�

���
����	+��

������
+������
������
�
���,
��	����$�����
��
�$����	
����
�
���
��
�����
��
���
�����87��-
	���
�����	��	��7	������������
���-��
�����-�	�87
���-��	�0	��	�

���
����	+��

������
+������
������
�
���,
��	����$�����
��
�$����	
����
�
���
��
�����
��
���
�����87��-
	���
�����	������	��7	������������
���-��
�����-�	�87
���-��	�0	��	�%�����	��

��=
�=	
����
��
�	7
��	���8����+87
�	�

�
�8�

��������	�$�����	����+���
���-
�����-���	����$�����	
������
�
���-
�
�����

8�

��������	�$�����	����+���
���-
�����-%�������������	7
��	��
�	����$�8
�
��������	�������
�
���
��
����

8�

��������	�$�����	����+���
���-������-
��	����$�����	
������
�
���-��
�����%
�������	-�	����$�����	
��
����	�
�	��
���	7
������-�����
��

8�

��������	�$�����	����+���
���-������-
������������	��	��
���	7
��	�
	����$�����	
������
�
���-��
�����

�
�����

�������������
��	�����	���
	����$�����	
������
�
���-��
�����

����

�������������
��	�����	�%�������
�����	7
��	��
�	����$�8
������>����
����
�
���
��
����

����

�������������
��	�����	���
	����$�����	
������
�
���-��
�����%

�#�0/

�#�0/

�#�0/

����
�$�����
�
����	
�
�����	

��
���
�����87��-
	���
�����	�%�����	��
�����-%
���
��	�����	�

����
�$�����
�
����	
�
�����	

��
���
�����87��-
	���
�����	�%�����	��
�����-%
���
��	�����	�

����
�$�����
�
����	
�
�����	

��
���
�����87��-
	���
�����	�%�����	��
�����-%
���
��	�����	�



���
������	����,����
�	�
��7
��������8�
���0		���
�
�8�$������������
����
��+���

8�

�������	�������$
>���
�	�
����$�8;���+��8��
��+������		���������	7
��	�	
�+z
����	

]��� �

�������

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�������

�������	-�	����$�����	
��
����	�
�	��
���	7
������-�����
��

�����
�=
����
�����

���������
���
��	�����	��������������	
�	��
���	7
��	��	����$�����	
�
����
�
���-��
�����

�
����
������	����,����
�	����7
����
���8�
���0		�����
�8�$������������
����
��+���

���
���	=$��������
�����	����,����
�	�
��7
��������8�
���0		�����
�8�$�����
������
�������+���%�������	���>�	�
���
�=�
������
���
���
��=	+�	���	
�,����
�		���7
�����	���������	�


���
������	����,����
�	����7
����
���8�
���0		�����
�8�$������������
����
��+���%�����������8���
�����
�$��

�=	+�	���	��,����
�		���7
�����	���
�����	�


���
������	����,����
�	����7
����
���8�
���0		�����
�8�$������������
����
��+���%�+
��=	+�7����8��������8
����>�	�
����	
����	��,����
�		���7
�����������	�


�
�8�

�������	�������$
>���
�	�
����$�8;���+��8�����+������		��
������	7
��	�	��+z
����	

�����+
�������	�����$�>���
�	�
����$�8;
��+��8�����+������		���������	7
��	�	
�+z
����	���	��8�	�����		�����������
��
�������
��

8�

�������	�������$�>���
�	�
����$�8;
��+��8�����+������		���������	7
��	�	
�+z
����	�	�-����	�������+��������
�8�����	�
�
�������+����������

8�

�������	�������$�>���
�	�
����$�8;
��+��8�����+������		���������	7
��	�	
�+z
����	�	�-�����	=$�	���+����7
���-
����7%�+
���
���$��-�	����8�0	����

#�0/2

#�0/2

���������$�87��������$
�������	��0		����
��-
	���+��������-���+��%
�������
�		���
�����	
��7
��������8�
���0		

���������$�87��������$
�������	��0		����
��-
	���+��������-���+��%
�������
�		���
�����	
��7
��������8�
���0		



����

���������������	��0		
��+���
���-����
��-
������	7
��	-�	���
�����	�

3���$��
�����	�87
�	���	��-
�	��
�������
��-�	
��+��������-�8����	�-%
��
+����	���
-�	�	
+
���������	���	���+��
��
���
��-�	���+��������-
8����	�-�	���+��
��
�������8���#�*���
�$��������	
��+����������
�
����
�������8���#

�������

���
���������������

�
���������������

]��� �

�������

���
���������������

�
���������������

]��� �

�������

����������8�����	�
��

�
�����

���������������	��0		
��+���
���-����
��-�������	7
��	-
	���
�����	�

�����+
�������	�����$���+���
��8;���+��8
�����
������
��-�	���
�����	�����+����	
������		���	��8�	�����		�����������
��
�������
��

����

���������������	��0		���+���
���-
���
��-�������	7
��	-�	���
�����	�
	�-����	�������+����������8�����	�
�
�
�����

����

�����������������$;
���������
�$���������	��0		���+���
���-
���
��-�������	7
��	-�	���
�����	�
	�-�����	=$�	���+����7
���-
�8�����	�
�
������7

2
����
���
�����	�87
�	���	��-��	��
���
���
��-�	���+��������-�8����	�-%
��
+����	���
-�	�	�+
���������	���	���+��

�����
��-�	���+��������-�8����	�-�	���+��

���������8���#�2
�����

���������	���+���
������
�
������������8���#


��-����	
��	�8
�������
����-�	�87
�	�
�	��-��	��
�������
��-�	���+��������-
8����	�-#�2
�����

���������	���+�����
����
�
������������8���#

3��
���
�����	�87
�	���	��-��	��
���
���
��-�	���+��������-�8����	�-%
��
+����	���
-�	�	�+
���������	���	���+��

�����
��-�	���+��������-�8����	�-#
2
8�
�
��������

���������	���+�����
����
�
������������8���#

3��
���
�����	�87
�	���	��-��	��
���
���
��-�	���+��������-�8����	�-%
��
+����	���
-�	�	�+
���������	���	���+��

�����
��-�	���+��������-�8����	�-�	���+��

���������8���#�*���

���������	���+�����
����
�
������������8���#

#�0/2

#�052

���������$�87��������$
�������	��0		����
��-
	���+��������-���+��%
�������
�		���
�����	
��7
��������8�
���0		

����
�$��
�����	
	�87
�	���	��-��	��
�
�����
��-�	
��+��������-
8����	�-%�	�
�$������	
��+����������
�
����
�������8���%����
�
��
+����	���
-�	�	
+
���������	



�'�������	���
����

*�
	$���1��!��!	1��$��������&	�������'��	:	?����
�

1����	1����
���!	$���1��!��!	1��$��������&	�������'��	:	3�<	<�
��
��������$��

�
����	��	

#��
�������������	1����
���!	$���1��!��!	1��$��������&	�������'��	:
		���$!	����
�$��	��	
�%��
	!

#�%�������	�'�������!

���
���������������

�
���������������

]��� �

2
������+
���0
�	�$�	��������	�	�����$�	�-���8;�	�,����0	;���
���8��$�������+�
����������		%��
����
�����������7������
�
�	
��	�
�	�$�����	��	������	%����87
���
���	�	�87
�		����,	�$��-
�	�0	��	�%����#7#����������	���	;������	������+���
���-��
����	�%���	
�
=
�		���87������	�������
���������7	���-��
������	�	9��
�����

�
��
0	��$������87�����
��	�����	
�9��
��
������	�8
�������	��������	�8
�
�8�$��������+���
���-�	������	�9��
������+
����������$�����<$
����8��	�������,	�$���������	��0		���-��
������	�	9��
�8�

���,������$
�
�8�$����������	�	��������
����		���	�
;<	�	�����
+����	��	%
���������	-���
�
������$#�y
�$������	�	��
�����	��8��%����������
���

����7	��
��
=
��#
*�0
���������+
���0
�	�$�	��������	�	�����$�	�-���8;�	�,����0	;���
���8��$�������+�
����������		%����	�������
������8��
�	����-��
�


����	��%�7���	7������
����	�
�	�$�����	��	������	%����87
���
���	
	�87
�		����,	�$��-��	�0	��	�%���	��
=
�		���87������	�������
����
����7	���-��
������	�	%����	�������
�����7	�
�$��
����+�
�����-��

������	���	��	��
��	��0		������	������+���
���-��
����	�9�����

���
�������7������
�
�	���
0	��$������87�����
��	�����	
�9��
������	�8
�
���
�$��
������	��������	�8��
�8�$��������+���
���-�	������	�9��
���
�$��-���87��-������+
����������$�����<$�����8��	�������,	�$���
�����	��0		���-��
������	�	9����
�=�
������
���
���
��=	+�	%�����
0
������+�;��
������	����,����
�	����7
��������	�	%���
�������
�
�
�8�$����������	�	���-��
���<	��%�����
��
������	�8
���������
��	�	7
���������	������=
�	�#�y
�$������	�	����������������	��8��%��
���
�$��
�����7	��
=
����	=$�7���	7��#
5����+
���0
�	�$��������$�	�-������	�,����0		�������8��$���
���+�
����������		�	������+
��

��������	�	�����$#�
�	�>�������8���
�
���
�$��
��
��7����	%��
���	�;<	
�����+<	
��
�8�$����������	�	9���
+��$=
��7���	��
������	�8
�������	������	�
�
�	;�����	��	��������%
���87
���
���	�	�87
�		����,	�$��-��	�0	��	�%���	��
=
�		���87���
���	�������
���������7	���-��
������	�	9������	7
��	��
�	�������
�
����8��
�	����-��
�������	���	��	��
��	��0		������	������+���
���-
�
����	�9�����

�����������7������
�
�	���
0	��$������87���
�
��	�����	
�9��
������	�8
���������7��
������	��������	�8��
�8�$�����
��+���
���-�	������	�������
�$���	�����
=������	9������+
����������$
����	,	0	������8;�����<$�����8��	�������,	�$���������	��0		���-��

�����	�	%�������8���
�����
�$��
�����7
��9�8�

����
��������$��
�8�$����



]��� �

�������

�����	�	���-��
���<	��%��
������	�8
�������	���	�	7
���������	�
����=
�	�%�������
�=�
���=	+�	����,����
�		���+�����	+����-��

��
�
���0		#�y
�$������	�	�����	��8��%�����
�8�$��������
�$��-�����7��

��7��������
����8;�������
����#

5����+
������������
�
��0
�	�$�	��������	�	�����$�	�-���8;
	�,����0	;�������8��$�������+�
����������		%���������
�
�,���	�������
������	������	�
�
�	;����,	�$��-�����	��	��������%��
�#7#����������	���	;������	������+���
���-��
����	�%���	��
=
�		
��87������	�������
���������7	���-��
������	�	9�����

����
0	��$���
��87�����
��	�����	
�9��
������	�8
�����87
���
������	��������	�8
�
�8�$��������+���
���-�	������	�9������+
����������$�����������+z
�

����	,	0	������8;�����<$�����8��	�������,	�$���������	��0		���-��

�����	�	9�8�

���,������$��������
����		�����
+����	��	%���
��������$
�
�8�$����������	�	���-��
���<	���	���	�	7
��	����	�������	���#�y
�$
�����	�	�����	��8��%�����
��������
���
�����7	��
=
��#


